SECOND YEAR HIGHER SECONDARY EXAMINATION SAMPLE QUESTION PAPER

Time: 2 Hours

p ar t ] cool-off : 15 Minutes

Max Marks : 60

Accountancy with computerised Accounting
Maxiumum 60 scores

A Answer any four questions from 1 to 5 Each carries 1 score

1  The Written agreement of partnesship is called ..........ccecenun. (1+4=4)
a) Articles of Association b) Memorandum of Association
¢) Partnership deed d) None of these
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2. When realisation expenses are paid by a partner on behalfof firm .............A/C is
debited
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3 Amount payable to the deceased partner is transferred to.....coccoveunen A/C
a) His loan A/C b) Current A/C
c) Capital A/C d) Executors loan A/C
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4 The loss or gain on account of Revaluation at the time of retirement of a partner is
shared by............

a) Remaining Partner b) Retiring partner
¢) All Partners d) New partner
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.5 Which among the following events lead to reconstitution of a partnership firm

a) Admission of a partner  b) Retirement of a partner
¢) Death of a partner d) All of these

MHY AWMU 6] B IE0M MO)IMOMIONG wjm:meeismuileales mulenym mosmn

AR ABOMIASE.
1 66 UBISloIas [[eneme 2 86 usgloles niledlean
3 66] B8NS 2E6Moe 4 ENIOWEIo

B.  Answer any two questions from 6 to 8 Each carries 2 scores
(2X2=4)

6 State the difference between dissolution of firm and dissoloution of partnesship
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7. what are the items appeared on the capital account of partness when their capitals
are fluctuating
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8. A.B and C are partness sharing profit and losses in the ratio of 3:2:1 A retires
and B and C decided to share future profit in the ratio of 3:2 calculate gaining

ratio.
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C. Answer any two questions from 9 to 11 each carries 3 scores (3x3=6)
9. what are the jo urnal entries passed at the time of dissolution of a partnesship firm

In the following cases
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a) when realisation expense is met by the firm
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b) on selling the assets
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10 Sindhu and Suma are partness in a firm sharing profitsin the ratio of 2:1 They
admit Smitha as a new partner . On that date, there was a balance of Rs. 30000 in
Reserve fund and Debit balance of Rs.12000 in the profit and Loss A/C of the
firm
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Pass necessary Journal entries regarding adjustment of accumulated profit or loss
and reserve
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Ina firm where A, B and C are partners where C is guaranteed yearly profit of

Rs .10000 . During the year the firm made a profit of Rs.25000 only. Give
journal entry to meet the deficiency if any , which was equally borne by the
other partners
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Answer the questions . Each carries 4 Marks (4x 2= 8)

12 Calculate the value of goodwill of the firm on the basis of three years

13

purchase of super profit Given that capital employed is 3,00,000, normal
rate of return is 10% and average profit for the last few years is 25000

863 mimimgiled a;ewm 03566 300000 GlaiD3e GRAIGIHS MIWIRE eneailess
10% §o ERET &Y NIBLETRGEINE BRGNS BE@BE eDEo 25000 @JalwIET
@Ruil&enR: 23] NIEOMes aBImoIm;es nlelwiwl moledd 2eymidgpwe
MSOme;

.A,B and C are partners in a firm an they close their books on 31 december
every year.Their profit sharing ratio was 3:2:1.According to partnership deed ,
the share of interim profit [profit from last balance Sheet date to the date of retirment]
is calculated on the basis of preceeding years profit.On 1st April 2010
B retired from the firm .The profit of the firm during 2009 was Rs.25,000.

Write journal entry to record the share of profit of retiring partner for the
year2010
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E Answer the following .Each carries 5 marks (5x2=10)

14 calculate the interest on drawings from the following

Month § Year Amount
Jan - 1- 2018 12000
Feb -28 - 2018 6000
Apr-1-2018 8000
Aug -1-2018 6000
Nov -30- 2018 4000
Dec 31-2018 2000

Accounting year closes on Dec 31st every year and interest on drawings
charged at 6% per annum
6% MMISIes NlueaRaes EesimnImomiol mmalg] alele &menen)s

22(Meo /UD-Ho Wi

@myouEl 12018 - | 12000
0a0(6N13.28 2018, | 6000
andlod -1 2018 8000
RO -1 2018 6000
Mo 30 2018 4000
wilme 31,2018 2000

EREEDARIET Nidde EROIMIATSNME
ag)) aubasinuge aulmuosrud 3107 @RyaT’
Oal] alellemlees (oladme 6%




15. The amount due to a partner on his retirement is Rs.4,00,000.As per the
agreement ,he will be paid Rs.40000 in cash and the balance in four equal
annual installments with interest at 10%,Prepare his loan account
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F.Answer any one question.Carries 8 mark (1x8=8)

16. A and B sharing profits andlossesin the ratio of 3:1 and they agreed upon
dissolution.. The Balance sheet as 31.3.2022 as under :-

Balance sheet as on 31.3.2022

Liabihites Amount Assets Amount
Loan 15000 cash at bank 27000
creditors 20000 Stack 47000
Capitals Furniture 18000
A 115000 Debtors 72000
B 68000 183000 Plantsand Machinery 54000
218000 218000

A took over plant and machinary at an agreed value of Rs.60000 stock and
furniture were sold for Rs.42000and 13900 respectively Debtors were taken
over by B at Rs.69000. Creditors were paid at a discount of Rs.900.A agreed
to pay the loan . Realisation expenses were Rs.1600

Prepare necessary ledger accounts to close the accounts of the firm
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Balance sheet as on 31.3.2022

Liabihites

Loan

creditors

Capitals

A 115000
B 68000

Amount

15000
20000

183000

218000

—

Assels

cash at bank
Stock

Furniture

Debtors

Plants and Machinery

Amount

27000
47000
18000

72000
54000

218000

s 00} " @B 02:Inal 60000 RIUTOH of) AFONSIOM] EQISE andamilald agemio
WO (&B0 42000 @Jal 13900 @al UG A1, 69000 GlulLied aLETEnYMiam
6l n@6QS30m3. B(@ulepYmilom 900 Gl allmieanasiol nadsyomy afls) eena
afigieam o mmoiley. fweseemdam «lainf1600 @lu

MNalMe GRS g} aI3SIMTINT @RIEI2ID HEIWRG FREADIRIGSWN MWINENIH

Anu and Kala are partnees sharing profit and losses in the rato of 3: 2 Their
Balancesheet as 31.03.2022 as follows

Balance sheet as on 31.03.2022

Liabites Amount Assets Amount
Capital cash 10000
Anu 70000 Stock 30000
Kala 100000 Debtors 60000
Profit and Loss A/c 30000 Bills receivable 30000
Bills payable 20000 Plants and Machinery 90000
220000 220000




Rakhi was admitted as a new partner for a six"™ share

a) plant is revalued at Rs 100000

b) stock and debtors valued 10% less

¢) Rakhi is to bring Rs.50000 towards her capital and goowill
d) Goodwill is revalued at Rs 60000

Prepare revaluation A/C , partness Capital A/C and Balance sheet
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Balance sheet as on 31.03.2022

Liabites Amount Assets Amount
Capital cash 10000
Anu 70000 Stock 30000
Kala 100000 Debtors 60000
Profit and Loss A/c 30000 Bills receivable 30000
Bills payable 20000 Plant and mechinery 90000
220000 220000
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Part B
Computerised Accounting
Max Mark - 20

A.  Answer all questions from 1 to 3.Each carries 1 score
(1x3=3)
L. In Libre office calc “Graphs and charts .are available in .......... tab
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2. Give the cell adress of the following

th th
cell at 18 column 60 row
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3. Find the odd one out

a)HRA b)PF ¢) CCA d)DA
maae mmlaleaymoualod ey mioleaimol &aaEome
a) HRA b)PF ¢) CCA d)DA
B. Answer any 3 question from 4-7 .Each carries 2 scores
(3x2=6)
4 . List the advantages of computerised accounting system
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5. Write any four elements of a chart
2NAGIO afFemaeleje MEel *RISSEBE ofV)MmIs
6 .State the objects available in libre office base.
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7.  Write the result displayed on a cell,if the following spredsheet function is
used.

a)=ROUND(999.99.0) b)=ROUND(999.99.-1)
miae oaildeaym misa @) 0mHm}Se1Ns DOMEe afiFIMIe

a)=ROUND(999.99,0) b)=ROUND(999.99.-1)



C. Answer any two questions from 8-10 Each carries 3 score ( 2x3=6)
8. Give the syntax and use of the following

a)PMT b) DB
mey omldeazmauuas mied sIemie («eIRMLUFe D TROISH
a)PMT b) DB
9. Write the security features available in computerised Accounting system.
ampseanminy eresvaElod’ MeniwImoiod eirjaiw Am&REG MenlWIMETRID of FIMIE
10. Explain any three logical functions with syntax.
APOmB R0 3 ceNHOA0D DHMISBI TRAUWIAS MIMSISTIe alnieleais.
D. Answer the following question which carries 5 score (1x5=5)

11. Explain the use of any 5 default accounting voucher types on GNUKHATA.
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